
2P-2PF



2

x1 x1

S6 n.12

4x35 n.12

x1x2

n.2

n.2 n.3 n.1

M6x12 n.8

3,5x19 n.2

M8x8 n.4 M5x10 n.2

M5x8 n.2

M5x16 n.2

M5 n.2

x1

n.1

x2

n.1n.12 n.4

ø6 mm

ø3 mm

ø4 mm

SILICONE
GREASE

H2O
CLEANIT

OR
WATER ONLY

Cleanit
LF

L2PF

LF

F70 F=66,7-67,2 cm

F75 F=71,7-72,2 cm

F80 F=76,7-77,2 cm

F90 F=86,7-87,2 cm

F100 F=96,7-97,2 cm

F110 F=106,7-107,2

F120 F=116,7-117,2

L2PF

2PF115 L=112,5-115 cm

2PF120 L=115-117,5 cm

2PF140 L=135-137,5 cm

2PF160 L=155-157,5 cm

2PF180 L=175-177,5 cm

L2P

2PF115 L=114,5-117 cm

2PF120 L=117-119,5 cm

2PF140 L=137-139,5 cm

2PF160 L=157-159,5 cm

2PF180 L=177-179,5 cm

L2P



3

2PF	 pag. 4

2P	 pag. 15



4

LF

3 
m

m

x4

1

2

2PF

OK 3 
m

m

LF

F70 F=66,7-67,2 cm

F75 F=71,7-72,2 cm

F80 F=76,7-77,2 cm

F90 F=86,7-87,2 cm

F100 F=96,7-97,2 cm

F110 F=106,7-107,2

F120 F=116,7-117,2



5

3

4

S6

4x35

ø6

S6

4x35

ø6

ø6 mm



6

5

6

x2

x2

No! OK



7

7

8

SILICONEGREASE

x2



8

L2PF

9

10

3 
m

m

x2

OK3 
m

m

L2PF

2PF115 L=112,5-115 cm

2PF120 L=115-117,5 cm

2PF140 L=135-137,5 cm

2PF160 L=155-157,5 cm

2PF180 L=175-177,5 cm

x230
0

31
4



9

S6

4x35

ø6

S6

4x35

ø6

ø6 mm

11

12
~ 

5/
10

 c
m



10

x2

No!

OK

13

14



11

OK

No!

15

16

M5x16
M5x10

M5x8
M5

4x35

S6

x2

x2

ø6 mm

x2

x2

12Nm



12

17

18

x4

OK

No! OK
No!

OK

12Nm



13

x mm

X mm

19

20



14

21

22

x2

OK No! No!

x2



15

L2P

9

10

1

6

x4

2P

min 15 mm

6 
m

m

L2P

2PF115 L=114,5-117 cm

2PF120 L=117-119,5 cm

2PF140 L=137-139,5 cm

2PF160 L=157-159,5 cm

2PF180 L=177-179,5 cm



16

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6 mm

No!

OK

11

12

No!

OK



17

3,5x9,5

3,5x9,5

3,5x9,5

13

14

ø3 mm

x3

SILICONEGREASE

x2



18

15

16

OK



19

17

18

x2

x2

x2

OK

No!

12Nm



20

19

20

M5x16
M5x10

M5x8
M5

4x35

S6

ø6 mm

x2

OK

12Nm



21

x mm

21

22
X mm

No! OK



22

23

24

OK No! No!



23

25

26

3,5x19



60098GAL (09 2016)


